
Quiz5

Name: v y i v ? M e l C o u x w n

- A 1 5 . 0 g sample o f a compound contains 6 .0 g o f carbon. Wha t is the percent compos i t ion o f

carbon in the compound?

«00 =- l i o %
\S,c n

. 3.43 % of the sample is composed of nitrogen. if the mass of the nitrogen is 15.6 g, what is the
total mass of the sample?
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3. H o w many CO; molecules are in 0.000534 g o f C02?
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4. How many grams are equivalent to 3.40 x 1 0 atoms of iron (Fe)?
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5. A c o m p o u n d Is found t o be composed o f 40.454% carbon, 5.658% hydrogen, and 53.888%
oxygen by mass. The exper imental mo la r mass of the compound is 267.21 g /mo l . Determine the
empir ical and molecu lar fo rmu la o f the compound.
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